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The beast of bias

become slightly negatively skewed for the log and square root transformation, and positively skewed for 
the reciprocal transformation.17 If we’re using scores from day 2 alone or looking at the relationship 
between day 1 and day 2, then we could use the transformed scores; however, if we wanted to look at the 
change in scores then we’d have to weigh up whether the benefits of the transformation for the day 2 
scores outweigh the problems it creates in the day 1 scores – data analysis is invariably frustrating. 

17  The reversal of the skew for the reciprocal transformation is because, as I mentioned earlier, the
reciprocal reverses the order of scores.

SPSS Tip 6.2
Using synt ax to compute new variables 

If you’re computing a lot of new variables it can be quicker to use syntax. The 
syntax file Transformations.sps does all nine of the transformations that 
we’ve discussed. Open this file and you’ll see these commands in the syntax 
window (see Section 4.10):

COMPUTE logday1 = LG10(day1 + 1).
COMPUTE logday2 = LG10(day2 + 1).
COMPUTE logday3 = LG10(day3 + 1).
COMPUTE sqrtday1 = SQRT(day1).
COMPUTE sqrtday2 = SQRT(day2).
COMPUTE sqrtday3 = SQRT(day3).
COMPUTE recday1 = 1/(day1+1).
COMPUTE recday2 = 1/(day2+1).
COMPUTE recday3 = 1/(day3+1).
EXECUTE.

Each compute command above does the equivalent of what you’d do using 
the Compute Variable dialog box in Figure 6.26. So, the fi rst three lines creates 
three new variables (logday1, logday2 and logday3), which are the log trans-
formations of the variables day1, day2 and day3 plus 1. The next three lines cre-
ate new variables called sqrtday1, sqrtday2 and sqrtday3 by using the SQRT 
function to take the square root of day1, day2 and day3, respectively. The next 
three lines do the reciprocal transformation in a similar way. The fi nal line has the 
command execute without which none of the compute commands beforehand 
will run. Note also that every line ends with a full stop.




